WORKSHEET ( 29.9.2021)

L. Look, read and choose the words

inventor succeeded solution electricity

wheel battery Jailed problem

B 6
I1. Give the correct Past Tense form of the verbs

L. Bave ‘& . nnnes 2. 0md = 3. fail B e
4. invent = ............... 5088 5 s 6.succeed =@ ...

III. Choose and correct the mistakes.

1. He are going to buy a new car this week.

2. We have to helped my mom clean the floor.

3. She won’t goes to Ho Chi Minh City next month.

4. Drivers must being careful.

5. Don’t closed the door, please!

IV. Solve the problem:

1. A pack of mixed chocolates had 15 milk candies and 25 caramel candies. Lily ate 5
milk candies and 4 caramel candies. What 1s the new ratio of milk candies to caramel
candies?

A.15:21 B. 10:21 C.21:10 D.15:25

2. 60 students are in grade 1, but only 30 students are in grade 2. What is NOT the ratio of
grade 1 to grade 2 students?

A.60:30 B.6:3 C2:1 D12

V. Put in order:

1. people/ the/ 1s/ Water/ important/ for/ most/ resource./

2. play/ knife/ Don’t/ the/ with/.

V1. Change the sentences into negative or positive sentences in Past Tense:

1. I did my homework yesterday. == ... ..o e
2. He found the 3olilion. = . mnvmmmnvimmmmrmasimsrisiarvmvevsio

3. We didn’t have computers. => .................
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